MAPAC Formative Test: Mortgages, Converting, Area, Volume Name:
Date:
P=PV | =Prt A=P1+i)" FV = Pmt[(1+i)" —1] PV = Pmt[1-(1+i)™"]
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Length
Metric System Imperial System Equivalent
10mm=1cm 12 inches = 1 foot linchisapproximately equal to 25.5 mm
100cm=1m 3feet = 1lyard 1 foot is approximately equal to 30.48 cm
1000 m=1km 1760 yards = 1 mile 1 yard is approximately equal to 0.9144 m
1 mile is approximately equal to 1.609 km
Volume
Metric System Imperial System (US) Equivalent
imL=1cm’ 16 fluid ounces = 1 pint 1 fluid ounce is approx. 29.574 mL

2 pints=1 quart

1 pint is approximately 0.473 L

1000 mL =1000cm®* =1L

8 pints= 1 gallon

1 gallonis approximately 3.785 L

Mass
Metric System Imperial System Equivalent
1000g=1kg 16 ounces = 1 pound 1 ounceis approximately 28.35 g
1000 kg=1t 2000 pounds = 1 ton (US) 1 pound us approximately 0.454 kg

1 ton(UYS) is approximately 0.907 t

Refer to your formula sheet for al other information.
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3. Determinethe perimeter. [2] 4 Sdon +
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4.  If it costs $35 per meter, determine the cost of fencing the

area. [2]

Coat = 835, 602wk

I7\
= F 2 12¢

5. Determinethearea.  [3]

A: ‘A\-LA?_J*'(PVB
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6. Determinethe surface area of the figure.  [4] & S sidea 3 cm = 1.5 con
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7. Determinethe volume of thefigure. [3] o
T A
V= TAxS & §xExg i
= Tx3xS » &vExy %-_-f;
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Cdculate the volume of the solid below.
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PART B Mortgage Problems.

1. Chase is buying a house for $189,000.00. He estimates his lawyer fees will be $2200.00.
The land transfer tax is 1.2% of the purchase price. His CMHC costs are $5,000.00. Heis
making a down payment of 10%.. Chaseis going to take a 20 year mortgage and pay
monthly. Hetakesa3yearterm. )15 wto r‘fj“iﬂ- Aa S 2, wi Mﬂ“/

a Caculaetheland transfertax. [1] .2 2 d'? (¥G,d20 P
s L@ 83 = 0.,02%x (8% @2 = F 2248
. n payment. [1] (09, o‘j 187 %92 <= 0,10 x 1§900D
jﬂ'[S,QOOA&m = B /8700
: ortgage amount. [1] 905, 4/8? 02D _ .90k [ 8F D
M &gﬁ_. —Ce)\/‘
o’dﬁ = [ 80 =ﬂ/?0, [ 0O

d. Caculatethetotal amount oi money Chase will need on the closing date. [2]
Toded = 2200 + 2Lé¥ 4+ $0OFt [gT00

Totnl = J 28 368
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e. What isthe percentage required before a High Ratio mortgage is not applicable? Isthis
ahigh ratio mortgage? ([f] net, L+ put Ao 252 o
a “l ""‘[ O  vo ogq €,

o~z YO avp L Ra —hia
xa a ko l. wratio M-;‘of\:l*j w b M.Q.o:-v\_s L\R
f. Dzeterminetheequivalentinterest rate. [2] = S Il Lezel J\A.ea.,ugﬁft'
L= Q4 %Bff-l MAS UNBACR .

2z
= (Ho_-?_"i)/”‘ = 0.00H12391%

g. Determine his payment. [3]
P = P‘U X L S
WA -~
Li-c1+y"]

als
- 130,00x 000435 — _ g | 113 5
C1—C 1,ooqi2365) "% ] 7

h. Determine the balance owing at the end of his 3 year term. Hint: Use atimelineto help.

O ) 1.4
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n= l.?K lz > 3 o 5
AL . & & wm’(s.
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tv.= 3 O.eoyi1239s
i. Determine the amount of principal paid inthefirst 3years. [2] P \) = gf ) Q‘?}&n
Fole < 130 (00 - (S3,77 & 32 T ——

S # IL(UL 63 e

j. Determinetheinterest paid at the end O is 3 year e O\
T = xR~ ((AFF — 16,12(.63
= #ay 1§07

The odioat pacd 40 §29,118.0
Using the graphing calcurator, answer thetollowing question.
2. Brandon buys a $275,000 house. He puts down 25% . He can get 5.6% for a4 year term on
a20 year mortgage. Determine [4 He bA- ol
a. The payment. a — 3_)
b. Theb?anced owing at the end of his 4 year term. z ,O”\ _"J"'Jl>
bl 6x4 2= § 180,4%2.69 <~ _
1,2 / 2Tt (—,—
c. Theprincipal paid off at the end of his4 year term. ’
Sen (1, 6x4,2)=H2 S26+.31 W

d. Theinterest paid by the end of his4 year term.

2 LA Coy ey, 0N = FH3090.28
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